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R.A (CBCS) DEGREE EXAMINATION,
NOVEMBER 2023

Sixth Semester

Economics — Core 3

Major Elective — PLANNING AND GROWTH
(For those who joined in July 2017 - 2019)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.
Choose the correct answer :

1. Qungieuns Qunmerngny euearidd @ps BrEsCarmd

GanLfyenwg
(1) euenihgeaumb (<) euariFflueL s
(@) wouaisdlueiwng ()  eeTiEd Genlw

Generally economic growth is associated with

countries.
(a) Developing (b) Developed
(¢) Under developed (d) Less developed

Theory of critical minimum effort was developed
by

(a) leibenstein
(¢) Harrod

(b) Rostow

(d) Samuelson

5 apyni-Gumotr  cuethdd  wrdfulgerer  euariEd
eigiusaildr aimasdr apgamen?
(<o) @bs () 2@
@) pneng (m)  gpenp)

How many types of rates of growth are in
Harrod-Domar model of growth?

(a) TFive (b) Six
(¢} Four (d) Three

6. andllt Qurpetsdr wrHferws sablueui
(=) waneGrmey !
() Gyorarssr whpd eussd
(@) afsev whmb CansCe
(m) =198 Qaelr
Who propounded wage goods mode]?
(a) Mahalanobis
(b) Brahmananda and Vakil
(¢ Hicks and Gohale
(d) Abhijit sen
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e BIO gwpuis GEHUusHE e JOPWTE
QoUUGE Apmeard snPuaui?

(=) &mirdd wiriréeh (=) BA&G

(R enpCeuchash (M)  abée

Who said, “A country is poor because it is poor”?
(a) Karl Marx (b) Nurkse

(© Samuelson * (d) Hicks

LD cvLflg e SapoItiulg Qunmerngmy
paGarppsApanrer SigliumLwrang

(=) Couener LY (=) Qerub

(@ epogear dycd () Qupers 94

According to Adam Smith, Economic Development
is based on

(a) Division of labour

(b) Profit

(c) Capital accumulation
(d) Natural law

Sally

GSNDHSULE Ppundls Gamrum anL

o (meums&lwaui

(=) QeowQuenev@L st
(<) GrmevGu

@ emgr@®

() smapGeucdeaar
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Armoviypriselid  CamoamitGpster  apsdu
<SLSTILONE @)(HLILS) \

() Ghoes Q,ﬁngﬂe‘bsa‘n

(<) dfwara) Qsmficoser

(@) efleusmud wHmId Frits Asmdaaser

(M) e pusds Azmfloser

The main source of employment in rural areas is
(a) Cottage industries

(b) Small scale industries

(© Agriculture and its allied éectors

(d) Manufacturing industries

Qpdu Qsmfler 2 pusd sLps s

(@) 2flsfisdosdns (@) @mppdnsdps
(@) wrpeldme (F)  eagafdme

Over the years, Indian Industrial Production has
(a) Increased

(b) Decreased

(é) Remain unchanged

(d) None

@idunaied ghsrar@s HLmsmer aiyalenblLg

(<) C8.0 (@) SLisEw
@ Bhsew (M Bl i@wsssid
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In India, Five Year Plan is formulated by
(@ C.8.0

(b) Planning commission

(¢) Finance commission

(d) Planning ministry

10. 8 =Cuns (NITI AAYOG) Qe ganevaurr
(SH) GRrursEs sl
(<) YGysw wiAHl
(@) P sewssi

(FF)  glevemrd GlqWya Senaaui
The chairperson of NITI AAYOG is
(a) President b)
(c) Finance Minister (d)

PART B — (5 x 5 = 25 marks)

Prime Minister

Vice President

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 250 words.

11. (&) Qummerngry wpeanGanppld eremmmed ereimer ?

What is Economic Development?
Or
(<) QumBeTTTy QuaTi&Es eTemmmed eTemran?

What is Economic Growth?
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15. (o) Al f@sen Cprésmsedr wiema?

What are the objectives of planning?

Or

(=) psorag gpsMEhs HAlLb upd sGus

NS

State briefly about First Five Year Plan.

PART C — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 600 words.

16. (o) Qunmemnsty  euariéAlmHg  QumBerTsTy

waGarppsms CaupuBs8!s.

Differentiate Economic Development from

Economic Growth.

Or

() aeri&dl Gepps QurBeTTaTgsSer Qungauner

Puaysamar aufés.

Describe the common characteristics of

under developed economy.

17, (a1 GyrevGLreler Qurmamgy
Gam_um yenar @y iiey Qaiis.
Analyse the Rostow’s
theory.
Or

(=) Grriefler  Wens

iEerts
wHISE Qairs. PEED

aeri&dlé

Economic Growth

Gamluns e

Examine the Rodan’s Big Push theory.
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12.

13.

14.

18.

19.

(<)

(=)

(<)

(<24

()

(=)

(=)

(s

(=)

Qg renenio cuenii&Esld Gam_Lm” iq éir

Si@orarisemerd GHLIEES.
Point out the assumptions of classical theory
of development.

Or
Gopbsuls Selly wwphls Camiumiyemer
H(HEE Fap6.
State briefly about critical minimum effort
theory.

Gumor  wrdfulledr  pédlu  sigunremhser

wreneu ?
What are the important assumptions of
Domar model?

Or
anpr wrdfllder apsdlw  sigyorarbsamend
Fams.
State the important assumptions of Harrod
Model.

apogens Qedley pL.ugemgy upd gy @Hliy
TDEI5-

Write a short note on capital Intensive
Technology.

Or

cewiiys Qsfley mCLdsy updl GOy
T(5IE.

Make a note on labour intensive technology.
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Qurmarmgry aertéd wifsefler Lwdsaer
Bars,.
Explain the uses of Economic Growth
Models.

Or
angarl -Gk QurEetnsry cusriEfid

Cam'ur en 1ACSHAsis.

Critically analyse Harrod-Domar theory of
economic growth.

Qurgengry e CaipsBb:
Caemareawler  udig oarar  cauag
Raiflzs.

Describe the role of agriculture in Economic
development.

Or
Qzofie m Lfselier Srézameraaern
ST Sra@ib anfiaperps@aid

siuifs.
Point cut the problems of technologire and
its remedies.
QasGap aucaurar S s ddobza
Explain the different types of planning

Or
Qummerngry dafimgmd vid s for e,

Write an essay on econvmzc reforms
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